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1) x2+x—12=0 eerp @uGE soaTuT e &ie|safler
SETEILOEUW GUITLILLD (LPEILD ,TmuilsE. [S-21]
ey
Sray, y = x> 4+x—12
DL L_QUEHEHRT:-
x -5 -4 | -3 | -2 | -1 0 1 2 3 4
x? 25 16 9 4 1 0 1 4 9 16
x -5 -4 | -3 | -2 | -1 0 1 2 3 4
-12 | -12 | -12 | -12 | -12 | —-12 | —-12 | =12 | -12 | —12 | —12
y 8 0 -6 |—-10| —-12 | —-12 | —-10| —6 0 8

Yeraflser:-
(-5,8),(—4,0),(-3,-6),(—2,—10),(—1,-12),(0,—-12),
(1,-10),(2,-6),(3,0), (4,8)

DeTayd Hh° 1L 1b:-
X -85 1 Q.5 =1 g
Y- o8& ¢ 1 Q.5 = 2 ge@ser

UTauenerwib X - pFens Qaul Qb Léreaflser:-
(-4, 0) wopmd (3,0)
Siailelr Herenlo:-

UreaueneTwild X -
Qv Epg.

s|Fflemenr Q@Qreawr@d yereaflezafles Goeul g &

erarGau, epeomiser Gloul WHMILD FLOOMHMDEenal.

x ={—4,3}

i

ey Sl ib
rods lawli=1 =
v adE | el = 1 sesmah
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an

"‘-.--_‘_-_
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—14
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2) x2—9x+20=0

eTetim  Q@HUIg &
SETEOLOEW GUTLILLD (PEILD ,Tmuils.

FO@TUM I1g 6T  &Teysafler

£iay:-
sra;, ¥ =x*—9x+20
DIl L auenemr:-

X -4 | =3 | -2 | -1 0 1 2 3 4 5
x? 16 9 4 1 0 1 4 9 16 25
—9x | 36 27 18 9 0 -9 | —-18 | =27 | —36 | —45
20 20 20 | 20 20 20 20 | 20 | 20 20 20
y 72 56 | 42 30 20 12 6 2 0 0

LT aflser:-

(—4,72),(-3,56),(—2,42),(—1,30), (0, 20),
(1,12),(2,6),(3,2),(4,0),(5,0),(6,2),(7,6),(8,12),(9,20)

eTayd Hh° L 1b:-
X -85 1 Q5.5 =1 g
V- o5 ¢ 1 Q.S =4 g

UTaueneTwib X - Fens GQail (RLd LidraflEer:-
(4, 0) wopod (50)

Siallén serenio:-
ureaemeTwib X - piFflener @rewr@® Lereflaafles Qalliqd QFr&lpg.
erarGau, epeomiser Goul WHMILD FLOWHMDEHE.

x = {4,5)

| (=130)

s ¥ oL T
40+ X s 1 G = 1 meoE
Yok | Gef = 4 gl
jﬁdl

7,5)
(4,0) [5.':':|:'r15.2:|
X

—ZB -

4 5 B 78
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3) x> -9 =0ererp DpLIgEF FLOHTUM g6 STeysafler SemenLoenwl
QUEHTLIL LD CLPEILD TmuIsE.

giay:-

srey. Yy=x2-9

DL L_GINERT . -

X -4 | -3 | -2 | -1 0 1 2 3 4
x? 16 9 4 1 0 1 4 9 16
-9 -91-9 -9 -9 -9 -9 -9| -9 -9
y 7 0 -5 -8| -9 | -8 =5 0 7

Yereaflselr:-
(_4r 7)r (_31 0)1 (_Zr _5)r (_11 _8)r (Or _9)1 (1r _8)1
(2,-5),(3,0),(4,7)
eTayd Hh° L 1b:-
X -85 1 Q.5 =1 g
Y-85 1 QS =1 oo
UTaueneTwib X - Fens GQail (RLd LidraflEdr:-
(=3,0) wpgid> (3,0)
Siailelr Herenlo:-
ugauemeTwib X - Fflewenr Qreawr@ Yereaflsafled Goeulig&
Qv Epg.

eranGau, epemiser Goul WHMILD FLOWMHMDEnG.

x ={-3,3}

4 ¥
10 +
g
& —
(=47)

SemegE b
X s 1 Qe = 1 givop
Y sivic 1 Grf = 1| gy

47)
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4) x> —8x+16=0 oerp @Eugs sweTUT g6 &Fasafler
SETEOLOEUW GUTLILLD (PEILD ,Tmuils. [S-20]
giay:- AT e e
=x2—-8x+16 w
sray. y & 24 Sarey FC b
. . =125 yafe 1 0Osf=1 .
=SIL L cuenemr - i y o | Gri =2 wesd
x | 4|3 =2|-1]0 ] 1|2 ]|3]|4]|s \
311}
x? 16 9 4 1 0 1 4 9 16 25
—8x | 32 24 16 8 0 -8 | —-16 | —24 | —32 | —40
16 | 16 | 16 | 16 | 16 | 16 | 16 | 16 | 16 | 16 | 16 }
($. 16)
y | 64 |49 |36 |25 | 16| 9| 4| 1] 0| 1 164 (0.15)
14 \ =
HdTGﬂ&dTI- E
(—4,64),(-3,49),(-2,36),(—1,25),(0,16),(1,9), i \ fK
(2,4),(3,1),(4,0),(51) \ r:’/
10 &
_&mgﬁ. ﬁ!l;l—l.b‘ {1,9}
X -8a 1 Q.85 =1 oo 5 Ili!.l f'{?’g
V- o8& ¢ 1 QS =2 ge@ser \ /
[
UTauenerwidb X - pFens Qaul Qb Lereaflser:-
(4,0) ) (64
Siallelr serenio:- 4 (511
Ugalenerwid X - FFfemenr @Cr o@p yereaflullo GCsm @& [5:1}\ -.Fﬁ /
Q& Dgl. L : >
erarGau, epevmiser Goul WHMILD FLOLD. e e . g 4 £ T
- X
fiay:- i
x = {4,4) Yr
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5) x?—4x+4=0 oerp @us swoeaTUT iger &Fasafler
SETEILOEUW GUITLILLD (LPEILD ,TmuilsE.
ey
Sray, y=x%—4x+4
D" L_QIenemT -
x -4 | -3 | -2 | -1 0 1 2 3 4
x? 16 9 4 1 0 1 4 9 16
—4x | 16 12 8 4 0 -4 | -8 | —-12 | —16
4 | 4 | 4| 4| 4| 4| 4| 4| 4| 4
y 36 25 16 9 4 1 0 1 4
Yeraflselr:-
(_4r 36)1 (_3r 25)1 (_Zr 16)1 (_11 9)r (Or 4)! (1r 1)r (21 0)1 (31 1)1 (41 4)
jerayd oL 1b:-
X - o5& 1 Q.5 =1 g
V- o8& ¢ 1 Qg5 = 2 ge@ser

Uraienerid X - Feng Qail” Qb Ljdreaflser:-
(2,0
Sialler gerenio:-
UreaueneTwildb X -
Qe &g .
erarGau, epemiser Goul WHMILD FLOLD.
giay:-
x ={2,2}

oFflenenr @Cr @ yYerafluilen

Qs (&

X

=T

-6 =5

4 ¥ Sieregdalil L 1b
20+ X geree 1 G = 1 S
Y oissfee 1 G5 = 2 msos
18 +

-4 -3

-10-
-]2
14
=16+

-18 ¢
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6) x>—6x+9=0 ererp

QUGS  FLOGTLIML I .60

SETEILOEUW GUITLILLD (LPEILD ,TmuilsE.

Sireyseflenr

giay:-
sray, y=x2—6x+9
D" L_QIenemT -

X —4 -3 | =2 -1 0 1 2 3 4 5
x? 16 9 4 1 0 1 4 9 16 25
—6x | 24 18 12 6 0 —6 | —12 | —-18 | —24 | —30
9 9 9 9 9 9 9 9 9 9 9
y 49 36 25 16 9 4 1 0 1 4

eraflseir: -
(_41 39)' (_31 36)' (_21 25)' (_1116)' (O' 9)' (1' 4)' (2' 1)' (3' O)' (4' 1)' (5'4)
jerayd oL 1b:-
X - o5& 1 Q.5 =1 g
V- o8& ¢ 1 Qg5 = 2 ge@ser

UTaueneTwib X - Fens GQall (RLd LidraflEdr:-

(3,0)

Sialler gerenio:-

urgeauemeTwild X - pEflemenr @Cr oup Uereafluildr Csm @&

Qo flpg.
erarGau, epemiser Goul WHMILD FLOLD.

x ={3,3}

-7 =6 -5 -4 -3 -2 -1

—10-
=12
14
=151

-15

Seeagdalllil
X gwwe 1 @rd = 1 g
Y msdet 1 @50 — I meom

SEIUTTE., LS. (H6006®E), HT& 2wij Heneoll uestaf, @G ErAmM-626612, ONGHEIBST oMUl LD, 9965771582

Kindly Send me Your Key Answer to Our email id - Padasalai.net@gmail.com



https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://www.padasalai.net/

www.Padasalai.Net

www.TrbTnpsc.Com

7 x> +2x+5=0 eerp @@ugs swoearuTiger &Fesafler
SETEILOEUW GUITLILLD (LPEILD ,TmuilsE.

giay:-

sray, y=x2+2x+5

DL L_QUEHEMT -
X -4 | -3 | -2 | -1 0 1 2 3 4
x? 16 9 4 1 0 1 4 9 16
2x | -8 | =6 | =4 | -2 0 2 4 6 8

5 5 5 5 5 5 5 5 5 5

y 13 8 5 4 5 8 13 | 20 25

Yeraflser:-
(—4,13),(-3,8),(—2,5),(—1,4),(0,5),(1,8),(2,13),(3,20), (4, 25)
jerayd oL 1b:-
X - o5& 1 Q.5 =1 g
V- o8& ¢ 1 Qg5 = 2 ge@ser
UTrauenerwib X - pFens Qaul Qb Léreaflser:-
@evemen
Siallelr gerento:-
ureauemeTwib X - Fflenenr aThHS @ Learaflwilgyb QeulL_eybd
Qavene, AsmBF QFoeayb Gerane.

erarGau, epemiser GQUILIHDENE! BJOF &HDHLICHEGTW TG hHEL.

Qi FFeysdr Goame.

BT AT
arey gL
x &dw | G _Ef=' O 10 (3203
v &sfe 1 Oenl = 2 2a
12 it
s +
‘a?/
16 i
E:
i
14 =
4
= /{L, 1)
10 /
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=1

|
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8 x?+x+7=0 aerp @upUns sweaUT g6 SFeysafler
SETEILOEUW GUITLILLD (LPEILD ,TmuilsE.
giay:-
sray. y = x> +x+7
D" L_QIenemT -
x -4 | -3 | -2 | -1 0 1 2 3 4
x? 16 9 4 1 0 1 4 9 16
X -4 | =3 | =2 | -1 0 1 2 3 4

7 7 7 7 7 7 7 7 7 7

y 19 13 9 7 7 9 13 | 19 27

Yeraflser:-
(—4,19),(—3,13),(—2,9),(—1,7),(0,7),(1,9),(2,13),(3,19), (4,27)
jerayd oL 1b:-
X - o5& 1 Q.5 =1 g
V- o8& ¢ 1 Qg5 = 2 ge@ser

Uraienerwiib X - oFeng Qall (Rb Ldreaflser:-
@evemen
Siallelr gerento:-
ureauemeTwib X - Fflenenr eThHS o Learaflwilgyb QeuLL_eybd
Qavene, QAsmBF QFowa|b Berene.

erarGau, epemiser GQUILIHDENE! BJOF &HDHLICHEGTW TG hHEL.

Qi FFe s6r Qeene.

161
144
f—ad9y
124
(=29

T

X mpiest 1 Gt = & mpon

(3,19) ; ¥ nisse 1 G5 = 2 oo

(2,13)

—10

—_12

-1 =

=164

-181
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9) 2x—3)(x+2)=0 eeiip Q@HuKSE

SETELOENU GUETLIL LD ePILD B, TmilsE.

FLOGTUML 1967 & Fa|serfler

giay:-
sray. y=(2x—3)(x+2)
=2x(x+2)-3(x+2)
=2x>+4x—-3x—6
y=2x*+x-6
<DL L_GHERT -

X —4 -3 | =2 -1 0 1 2 3 4
x? 16 9 4 1 0 1 4 9 16
2x? 32 18 8 2 0 2 8 18 32

X —4 -3 | -2 -1 0 1 2 3 4

-6| 6| 6| —-6|—-6|—-6| —-6|—-6|—-6/| —6

y 22 9 0 -5 | -6 | -3 4 15 30

errerflEseir -

(—4,22),(-3,9),(—=2,0),(—-1,-5),(0,—6),(1,-3),(2,4), (3,15), (4, 30)

jerayd oL I1b:-
X -85 1 Q.5 =1 g
Y - o5& ¢ 1 Qg5 = 2 ge@ser

UTaueneTwidb X - s GQeaul Qb LjereflEser:-
(=2,0) wpgo (1.5,0)

Sialler gerento:-
UgaueeTwid X - EFlewer Qreawr® yYearaflsafleo Qeuliq &
Qe &g .
eranGau, epemiser Goul WHMILD FLOWMHDEnG.
Siay:-
x ={-2,1.5)

X

W=

18

161

[:_3-'9} 1|

(—20)

aeemapiel Lol
¥ et Gent-=-1 mwom
Y msse 1 Grf =2 msg

=3

L T LI L
- =5 = =3 ~;\

=10+

—T2

—14 —

—16-4
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10)y = x>+ x—2 -é aUeTLIL LD cUaTHGl, DF6T ePELD X2+x—-2=

0 erevip sweTUML  Iqemens STESaD. [PTA-1]
iy
srei.  y=x?+x—2
2| L_alenemr:-
X -4 | =3 | =2 | -1 0 1 2 3 4
x? 16 9 4 1 0 1 4 9 16
X -4 | =3 | -2 | -1 0 1 2 3 4

y 10 4 0 -2 | =2 0 4 10 18

Yeraflser:-
(—4,10),(-3,4),(=2,0),(—1,-2),(0,-2),(1,0),(2,4),(3,10), (4, 1
jerayd oL 1b:-
X - o5& 1 Q.5 =1 g
V- : 1 Qs =1 g
sflsge:-
y=x%+x—2
0=x>+x-2
D EE &
y=0

Yy =0 eretrug X - &fer sweTLMT®.
Uraienerwiapb X - &b Qe b Ljeraflsdr:-
(=2,0) wpgo (1,0)
iy~
x=1{-2,1}

AY !
2 8
(=3.4) 4 2.4 5 3 @
] Il
3 ™ Eﬁ??
o &
8 G - -
5 + 2 B
T 5 99
y -
o
(1.0
B
X3 g
(0-—2)
) :
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1)y = x? + 3x — 4 erehrp aueTUL D cuenThgl, DSer’l LweTURSE
x2+3x —4=0ceretip seTUT L% Sfssab. [GMQ,S-21]

fiay:-

srey, y=x*+3x-4

DL LU EWT .-
x -5 -4 | -3 | -2 | -1 0 1 2 3 4
x? 25 16 9 4 1 0 1 4 9 16
3x | =15 | -12| -9 | -6 | =3 0 3 6 9 12
4| 4| -4 | 4| -4 | 4| -4|-4|-4]|-4]|-4
y 6 0 -4 | -6 | -6 | —4 0 6 14 24

Lereflser:-

(=5,6),(—4,0),(-3,—-4),(—-2,-6),(—1,-6),(0,—4),(1,0),(2,6), (3,14),

(4,24)

jeTayd Hh° L 1b:-

X -85 1 Q.5 =1 g
V- : 1 Qs =1 oo

y=x%+4+3x—4
0=x2+3x—4
DM

y=20

y=0 ererug X - &l swerm@®.

Ureienerwiapld X - od&Ib Qe Qb LjereflEer:-

x ={—4,1}

¥

| E_E-'E‘}

(=40}

s SemagEiiuid

g ¥ogares 1 Grf = 1 gem

18+

Y mSFfeb 1 85 = 2 maE

161

144
12+

10+

(28]

—F o 5 =4\ =3 =3 -1
| =

th

+ + + + + + +—
/ PSR TR R S I SR
(0—4)
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12)y = 2x? arebip euewgULID euenThg Sisenm aped 2x2—x—6=0
GTGHTD FLOGTUMNL oL &THsE. [PTA-4]

srey. Y = 2x°

DL L_ G G GHRT :-
X —4 | =3 | -2 | -1 0 1 2 3 4
x? 16 9 4 1 0 1 4 9 16

y=2x?| 32 18 8 2 0 2 8 18 32

eraflser: -
(—4,32),(-3,10),(-2,8),(—1,2),(0,0),(1,2),(2,8),(3,18), (4,32)
jerayd oL Ib:-

X -85 1 Q5.5 =1 g
V- : 1 Qs =1 g

y = 2x?
0=2x2-x—-6
GEGNCINCD)

y = x+6
X 0 2
y 6 8
(0,6),(2,8)

ureienerwiapld CriCsr@d Qe QD Ljereflser:-
(-1.5,4.5) wpgo (2,8)

x ={-15,2}

2yemey LD
x oiFa | sl = | 21606
v aifer | 0FLb = | a0
|
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13)y =x* +4x +3 -6 cuerLLID QuTHE, DiB@ET LWETLGSS
x?+x+1=0créhip swLM G SFemeud smawrs. ‘ ‘ ‘ ‘ s

o

sray y=x%+4x+3 B sierey SICLb

)
e

<DL L_G)l 65T - x @iFE 1 el = 1 e {2. 15
X —4 | =3 | =2 | -1

2
o

3 4 v &iFs 1 61515 = 2 siengse

'__l.
iy

x? 16 9 4 1

‘?z_]L

4x -16 | -12| -8 | —4

I

":|-\.

2
4 | 9 | 16

8 | 12 | 16 : /
3 3 |3 ]3| 3 3 | 3| 3 i

y 310 |-1]o0 15 | 24 | 35 1

wl w| o | o | o

o |w ||~ |-

=]

2]

eTayd Hh° L 1b:-
X - o5& 1 Q.5 =1 g

=
Yeraflser:- (] 7 @
(—4,3),(-3,0),(—-2,-1),(—1,0),(0,3),(1,8),(2,15),(3,24), (4,35) .

I

Y - F&H 1 Q.8 =2 DI G S ET {'?"
s fl5g6:-

x> +4x+3

x>+ x+1

( - (=) (=)

y
0
)
y

i~

3x+2

X 0 1

y 2 5 T
(0,2),(1,5)

ureaienerwiapld CriCsr@d Qe b Ljereflser:-
eTh s PTI) Leirefluflgpild QauLL_&ylb Qavenev,
Qs (h&CEmareara|b Seenen.

SFeyser QLUIWIHDE6U DIOOS &DHLICHEOTW TETEOHE.
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14)y = x? —4x + 3 -t euemyLL LD UDTHSI, DS ePLD x% —6x +
9 =0 eretrp sweaTUT ML SFEsaD.

S 5}1 2 aemey SlLID
o nas x @215% 1 aFib = 1 s
J: v aids 1 6818 = 1 s
= 12
10
&

Sial-
sra, y=x?—4x+3
DL L_ G GEWT -
X -4 | =3 | -2 | -1 0 1 2 3 4
x? 16 9 4 1 0 1 4 9 16
—4x 16 12 8 4 0 -4 | -8 | —12 | —16
3 3 3 3 3 3 3 3 3 3
y 35 24 15 8 3 0 -1 0 3
Yeraflselr:-
(—4,35),(-3,24),(-2,15),(-1,8),(0,3),(1,0),(2,—1),(3,0), (4, 3)
jerayd oL 1b:-
X - o5& 1 Q.5 =1 g
Y-85 1 QS =1 oo
LT TR
y=x%—4x+3
0=x%-6x+9
B = EH) =)
y = 2x—6
X 0 1
y -6 —4
(0,-6),(1,—4)
ureaienerwiapld CriCsr@d Qe RbD Ljereflser:-
(3,0)
eial-
x = {3,3}
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15)y =x?> — 4 arewip euengULID auerhs, SiSmertl UWLSTLOSS
x*—x—12 = 0 eretrp swEHTUT LS STdsayb.

fhay-
srey, y=x*—-4
DI L_alenemr -
X —4 -3 | =2 -1 0 1 2 3 4
x? 16 9 4 1 0 1 4 9 16
—4 —4 —4 | —4 | —4 —4 | -4 | -4 | -4 —4
y 12 5 0 -3 —4 | =3 0 5 12
YeraflEser:-
(_4r 12)1 (_3r 5)r (_21 O), (_1r _3)1 (Or _4)1 (11 _3)r (Zr 0)r (3r 5)r (4r 12)
jerayd oL Ib:-
X -85 1 Q5.5 =1 g
V- : 1 Qs =1 g
s fl5ge:-

y = x? —4
0=x%>—x-—12
) OB

y = x+8
X -3 4
y 5 12
(_31 5)r (41 12)

ureaienerwiapld CriCsr@d Qe b Ljereflser:-
(=3,5) whmn (4,12)

Liay-
x = {-3,4}

(—412)

M-

18 4

16

S aydali L
X gubwet 1 Ged =1 SWoE
Y sesdfet 1 G = 2 moom

£-5

—10 =

-12 -

—-14 4

-16 -

=18 4

Ty
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16)y = x>+ x uwiletr GueFUL LD GUETHII, x24+1=0 ereorp
FOSTUTE LG STohEa|D.
£ ey -
srey, y=x*+x
2L’ L_QIenemr:-
X —4 -3 | =2 -1 0 1 2 3 4
x? 16 9 4 1 0 1 4 9 16
X —4 -3 | =2 -1 0 1 2 3 4
y 12 6 2 0 0 2 6 12 20
Yerreflser:-
(_4’; 12); (_3; 6): (_2' 2)' (_1r 0)1 (Or 0)1 (1r 2)1 (Zr 6)1 (37 12)' (4' 20)
jeTayd Hh° L 1b:-
X -85 1 Q5.5 =1 g
V- 1 Q85 =1 g
Efl5ge:-

y=x2+ x+0
0=x?+0x+1
@EIGIGNG)

y = x—1
x —4 4
y -5 3
(=4,-5),(4,3)

uraiemerwiapld CriCGar@b Gail R LjeraflEer:-
ureauemeTwi(pld CrFCsmBb erbs @b Lerafluilgibd QeailL_ab
Qavenew, AsTBF GFaewa|b Gevrenen.

erarGau, epemiser QUILIDDENE! BIOOF &HMHLIGH G TG G .

Qi FFays6ar Qéenev.

bk
=]
]

aemagtal i
X medet 1 God = | mop
Y masc 1 G5 = 1 meos

==l =5
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17)y=x?>+3x+2 -er euerLULld eu®THs, DS  epeib
x*4+2x+1=0creorp swerum e SFdsab. [PTA-5]
eial-
Sray, y =x?+3x+2
DI L_GUenemT: -
X -4 | =3 | -2 ]| -1 0 1 2 3 4
x? 16 9 4 1 0 1 4 9 16
3x -12 | -9 | -6 | =3 0 3 6 9 12
2 2 2 2 2 2 2 2 2 2
y 6 2 0 0 2 6 12 20 30
Leraflser:-
(_4r 6); (_3' 2)' (_Zr O)' (_1r 0); (Or 2); (1r 6); (Zr 12)7 (37 20)' (4' 30)
jerays FhoL Lb:-
X -85 1 Q5.5 =1 g
V- o8& ¢ 1 QS =2 ge@ser
s fl5g6:-
y=x%+3x+2
0=x?+2x+1
0= &
y = x+1
x —4 4
y -3 5
(—4,-3),(4,5)
uraienerwiaplb CriCar@b Qail RIb Ljeraflser:-
(_1r 0)
Sial-
x={-1,-1}

amaghali b
X -gaoo'ss 1 G =1 Zpom
Y sibdst 1 Goid = 2 meop

~10-
=LE
-14-
-16
-18

=204
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18)y = x?>—5x—6 ) auerULLd  eueThSl, EENE v W
LwerL@SH X2 — 5x — 14 = 0 ererp swerUMenLF HFssab.
[PTA-2, PTA-6]

x | =3|-2|-1]0 1 2 3 4 5 6 7

x? 9 4 110 1 4 9 16 | 25 | 36 | 49

—5x | 15|10 | 5 0 | =5 |-10| —-15|—-20| —-25| —-30| =35

-6 |-6|—-6|—-6|—-6|—-6|—-6|-6|—-6|—-6|—-6|—06

y 18| 8 | 0 |—-6|-10|-12|—-12|-10| -6 | O 8

Yeraflzser:-
(-3,18),(—2,8),(—1,0),(0,—6),(1,—-10),(2,—12),
(3,—12), (4,-10),(5,-6),(6,0),(7,8)

jerayd oL Ib:-
X -85 1 Q.5 =1 g
Y - o8& ¢ 1 Q.5 = 2 ge@ser

Sfl5s0: -
y=x*-5x—6
0=x%—-5x—14
DE M
y= 8
X -2 2
y 8 8
(-2,8),(2,8)

ureaienerwiapld CriCsr@d Qe Qb Ljereflser:-
(-2,8) wpgo (7,8)
fial-

x=1{-2,7}

s ¥ Srroghal il
20+ X-guio'et 1 G =1 gmog
Y sdfe 1| Qo = 2 meog

-16+4

-181

=20 1

LA
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199y =2x*-3x—5 eremp QuenrLIL_LD ueThHEl, EENE YT W
LweTL@SE 2x% —4x — 6 = 0 ereirp swTUM LS £Ffdsa)ib. ¥ armagddicsib
[PTA-3, S-20] 20 X mev: 1 G5 = 1 oEom
iﬁ'ﬂi- ¥ sdder 1 Gond = 2 s
Srey, y=2x>-3x—-5 181
_&I;I_Q.Imml':- 16+
X -4 | -3 | -2 | -1 1 2 3 4 4]
x? 16 9 4 1 1 4 9 16 1]

0

0
2x% | 32 18 8 2 0 2 8 18 32
—3x| 12 9 6 3 0 -3 | -6 | -9 | -12
-5 -5(-5|-5|-5|-5|-5|-5|-5] =5
y 39 22 9 0 -5 | -6 | =3 4 15

YeraflEser:-
(_4’; 39); (—3, 22); (—2, 9); (_1' O)' (O' _5)r (1r _6)' (2' _3)r (3' 4)' (4715)
X' e} t
eTayd Hh° L 1b:- =7 -] 78
X -85 1 Q.5 =1 g
Y - o8& 1 Q.8 =2 ge@sdr
s fl5g6:-
y=2x*—3x—-5 (1-6)
0=2x%>—4x—6 -8 -
OIONONE o
y = x+1
—33
x 0 1 g
y 1 2 | ~164
(Or 1): (1r 2) =18 +
uraienerwiaplb CriCar@b Qail RIb LjeraflEer:-
(-1,0) wpmo (3,4) -204
giay:- _ g
x={-1,3}
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200y=(x—1D(x+3) - uwler eueoruLId eumTHS, DS
LweTL@SH X2 —x — 6 = 0 eretrp FwHTLT LS SFésab.

aray. y=x-1Dx+3)=x(x+3)—-1(x+3)
=x*4+3x—x—-3
=x*+2x—3

DL L_ QUG -

x -4 | -3 | -2 | -1 0 1 2 3 4

x? 16 9 4 1 0 1 4 9 16

2x | =8 | =6 | =4 | -2 0 2 4 6 8

-3 -3 |(-3|-3|-3|-3|-3|-3|-3]| -3

y 5 0 -3 | —4 | -3 0 5 12 21
Yereaflser:-

(—4,5),(-3,0),(-2,-3),(—1,-4),(0,-3),(1,0),(2,5),(3,12), (4,21)
jerayd oL Ib:-
X -85 1 Q.5 =1 g
V- o8& ¢ 1 Q.5 = 2 ge@ser
s 5560 -
y=x%+4+2x-3
0=x2— x—6

=) B ()

y= x+3
X 0 1
y 3 4
(0,3),(1,4)

ureaienerwiapld CriCsr@d Qe b Ljereflser:-
(=2,-3) whpmo (3,12)
Sial-

x={-2,3}

gl L1 d
X mae'eo 1 Bl =1 mwom
Y sbvel 1 God = 2 mwg

SEIUTTE., LS. (H6006®E), HT& 2wij Heneoll uestaf, @G ErAmM-626612, ONGHEIBST oMUl LD, 9965771582

Kindly Send me Your Key Answer to Our email id - Padasalai.net@gmail.com



https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://www.padasalai.net/

